BRAKE MOUNTING HARDWARE

o b=

Stud Press In BoltHexHead  Nut Flanged Locking Nut Keeper

Ref # Description Bl:aeI:e Axle Size
7-041 Stud, Press In 7/16-20 x .89 Black Oxide 4 25K &
6-170 Nut, Flanged Locking 7/16”-20 4 3.5K
7-112 Stud, Press In 3/8-24 x .88 Grade 5 5 ——
6-193 Nut, Keeper 3/8”-24 5

7-097 Bolt, Hex Head 1/2”-20 x 1.25” Grade 5 4 8K
6-046 Nut, Flanged Locking %”-20 4

7-116 Bolt, Hex Head 7/16”-20 x 1.75” Grade 5 7 10K-12K
6-017 Nut, Flanged Locking 7/16”-20 7

©Steelfab Mfg LLC Rev 1-2018 Sales @ 1-800-670-7281 Press 1 www.Bulldogaxles.com



